
-01-

INSTRUCTIONMANUAL



1

2

3

4

5

6

7

8

10 11

12

13

14

14
15

16

1617

17
18

18

19

19

20

-02-



-03-

Ø15X12

M5X40

M5X42
A

B

C

30

30

14

2

4

24

2

8

M3.5X12

M3.5X14

M5X55

M6X 40

M6X12

D

E

F

G

H

J

K

L

M

N

O

P

2

2

2

4

4

4

4
M4X10



-03-

1 2 3

4 5 6

7 8 10

11 12 13

14 15 16

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 2 PCS2 PCS

137



-05-

17 18 19

20

2 PCS

1 PC

144

2 PCS2 PCS



M

2

3

2 3

-06-

Step：1

Step：2

M 4

M

M

M

O 4

O

O

O

O

M



A
A

A

A
A

A
A

A

A

A

A

A

A A

2

3

10
12

A

A

-07-

Step：3

Step：4

M5X42
A 24

M5X42
A 2



B

B

C
C

C

C
C

C

10

12

11

1

10

12

11

B

-08-

Step：5

Step：6

Ø15X12
B 2

M5X40
C 6



A
A

A

A

C

C

1

14
13

A

-09-

Step：7

Step：8

M5X42
A 4

M5X40
C 2



B
B

B

B

B
B

B

14

13

15

2

2

14

7

8

B

-10-

Step：9

Step：10

Ø15X12
B 4

Ø15X12
B 8



B
B

B

B

B

B

C
C

C

C
C

C

3

13

8

14

14

7

15

6

3

2

14

C

B

-11-

Step：11

Step：12

Ø15X12
B 12

M5X40
C 6



G

G

H
H

H H

19

19

20

19

19

6

H

G

-12-

Step：13

Step：14
M6X12

H

G
M6X 40

2

8



B
B

B

B

1

2

3

-13-

Step：15
Ø15X12

B 4



F

F

F
F

F

F

F
F

K

L

L

K

5

5

4

4

-14-

Step：16

Step：17

K

L

1

1

F
M3.5X14

6

K

L

1

1

F
M3.5X14

6



F
F

F

F
F

F

F
F

F

F
F

F

5

5

4

4

17
16 18

17

16
18

-15-

Step：18

Step：19

F
M3.5X14

6

F
M3.5X14

6



E
E

E
E

J

J

4

5

-16-

Step：20

Step：21

2
M3.5X12

E

J 1

2
M3.5X12

E

J 1



N
P

P

N

-17-

Step：22 N

P

4

4
M4X10

4

5

5

4

The installation of the shoe
 cabinet bucket surface needs
 to be carried out by 2 people
at the same time



D

D

8

-18-

Step：23 2
M5X55

D

WALL

1

2

3

WALL

WALL

D


	图纸和视图
	FZ-011说明书-布局1
	FZ-011说明书-布局2
	FZ-011说明书-布局3
	FZ-011说明书-布局4
	FZ-011说明书-布局5
	FZ-011说明书-布局6
	FZ-011说明书-布局7
	FZ-011说明书-布局8
	FZ-011说明书-布局9
	FZ-011说明书-布局10
	FZ-011说明书-布局11
	FZ-011说明书-布局12
	FZ-011说明书-布局13
	FZ-011说明书-布局14
	FZ-011说明书-布局15
	FZ-011说明书-布局16
	FZ-011说明书-布局17
	FZ-011说明书-布局18


